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Math 206: Fall 2013
Final Exam

Name:

Read directions carefully and show all your work. Partial ¢redit will be assigned based upon the correctness,
completeness, and clarity of your answers. Correct answers without proper justification or those that use
unapproved short-cut methods will not receive full credit. If you use a calculator to help find an answer,
you must write down enough information on what you have done to make your method understandable.

Good Luck!

1. (26 points) Solve the following problems. Write your answers on this exam. For all parts of question
1 only, no justification necessary, no partial credit available.

(a) Match each sketch with an equation.
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(b) Let R be the two dimensional region shown in the figure below. What is ] flz,y)dA? these
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{c) The diagram below depicts contours of a function f{z,y).

Enter one label into each of the boxes.
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(d) The figure below shows the contour diagram of which function f(z,y)?
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(e) A portion of a vector field F is shown below. Find F(0,1).
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has continuous first and second order partial derivatives at (1,2) and that

(f) Suppose that f(z,1
Jand fay(1,2) = —1. Which of the following statements is most likely
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to be true?
i fy(1,2) > f,(1,2.01).

i £,(1,2) < £,(1,2.01).

.,,(1 2) = £,(1,2.01). =

iv. It is impossible to determine the relationship between f, (1, 2) and fy(1,2.01) from the given

information.
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